

Generalized Fibonacci and k -Pell Matrix Sequences

Arfat Ahmad Wani
School of Studies in Mathematics,
Vikram University, Ujjain, India.
Email: arfatahmadwani@gmail.com

V. H. Badshah
School of Studies in Mathematics,
Vikram University, Ujjain, India.
Email: vhadshah@gmail.com

G. P. S. Rathore
Department of Statistics,
College of Horticulture Mandsaur, India.
Email: gps_rathore@yahoo.co.in

Paula Catarino
Department of Mathematics, School of Science and Technology,
University of Trás-os-Montes e Alto Douro (Vila Real Portugal).
Email: pcatarino23@gmail.com

Received: 13 October, 2017 / Accepted: 17 January, 2018 / Published online: 20 September, 2018

Abstract. In the present article first and foremost we define generalized Fibonacci sequence and k -Pell sequence. After that by using these sequences we delineate generalized Fibonacci matrix sequence and k -Pell matrix sequence. At the hindmost we obtain results by some matrix technique for both general sequences as well as for matrix sequences.

AMS (MOS) Subject Classification Codes: 11B37; 11B39; 15A15.

Key Words: Generalized Fibonacci Sequence, k -Pell Sequence and Matrix Sequence.

1. INTRODUCTION

Fibonacci numbers have many applications and plays an important role in the field of biology, physics, chemistry, computer science etc. In other words, we can say that these numbers behaves just like a ruler for the whole universe. For the detailed information [1, 2] can be consulted. The main motivation of this article is to study the matrix sequences of generalized Fibonacci sequence and k -Pell sequence.

Many authors dedicated to study the generalizations of classical Fibonacci numbers.

Horadam [3] introduced the generalized Fibonacci sequence and obtained the various properties for this sequence and the author defined the generalized Fibonacci sequence by the following equation:

$$H_n = H_{n-1} + H_{n-2}, \quad n \geq 3, \quad H_1 = p, \quad H_2 = p + q$$

where p and q are arbitrary integers. Bolat et al. [4] presented some properties for another generalized Fibonacci sequence given by

$$L_{k,n} = kL_{k,n-1} + L_{k,n-2}, \quad n \geq 3, \quad k \in \mathbb{R}^+, \quad \text{with } L_{k,0} = 2, \quad L_{k,1} = 1$$

Chong and Ho [5] derived some summation formulae for the generalized Fibonacci sequence, which is recurrently defined by

$$U_{n+2} = pU_{n+1} + qU_n \quad \forall n \in \mathbb{Z}_0^+ \quad \text{and } p, q \in \mathbb{Z}^+$$

From several past years many authors studied Fibonacci sequence and its generalizations by matrix technique. In [6] Silvester shows that a number of properties of the Fibonacci sequence can be derived from a matrix representation. In doing so, he showed that if

$$A = \begin{bmatrix} 0 & 1 \\ 1 & 1 \end{bmatrix} \quad \text{then } A^n \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \begin{bmatrix} F_n \\ F_{n+1} \end{bmatrix}$$

where F_n represents the n^{th} Fibonacci number. Catarino and Vasco [7] obtained some basic properties for k -Pell sequence with the help of a 2×2 matrix. Now the main aim of the present article is to study generalized Fibonacci matrix and k -Pell matrix sequences.

In 2008 Civic and Turkmen [8] studied Fibonacci numbers using another aspect by introducing the concept of Fibonacci matrix sequence in terms of (s, t) -Fibonacci matrix sequence and here the authors defined (s, t) -Fibonacci matrix sequence as

$$\mathcal{F}_{n+1}(s, t) = s\mathcal{F}_n(s, t) + t\mathcal{F}_{n-1}(s, t) \quad \text{for } n \geq 1$$

with $\mathcal{F}_0(s, t) = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$, $\mathcal{F}_1(s, t) = \begin{bmatrix} s & 1 \\ t & 0 \end{bmatrix}$ and $s > 0$, $t \neq 0$, $s^2 + 4t > 0$.

Again Civic and Turkmen [9] delineated (s, t) -Lucas matrix sequence which is defined as follows:

$$\mathcal{L}_{n+1}(s, t) = s\mathcal{L}_n(s, t) + t\mathcal{L}_{n-1}(s, t) \quad \text{for } n \geq 1$$

with $\mathcal{L}_0(s, t) = \begin{bmatrix} s & 2 \\ 2t & -s \end{bmatrix}$, $\mathcal{L}_1(s, t) = \begin{bmatrix} s^2 + 2t & s \\ st & 2t \end{bmatrix}$ and $s > 0$, $t \neq 0$, $s^2 + 4t > 0$.

After that in 2015 Ipek et al. [10] introduced the generalization of (s, t) -Fibonacci matrix sequence and here the authors defined generalized (s, t) -Fibonacci matrix sequence by the following recurrence relation:

$$\mathfrak{R}_{n+1}(s, t) = s\mathfrak{R}_n(s, t) + t\mathfrak{R}_{n-1}(s, t) \quad \text{for } n \geq 1$$

with $\mathfrak{R}_0(s, t) = \begin{bmatrix} a_1 & a_0 \\ ta_0 & a_1 - sa_0 \end{bmatrix}$, $\mathfrak{R}_1(s, t) = \begin{bmatrix} sa_1 + ta_0 & a_1 \\ ta_1 & ta_0 \end{bmatrix}$, $s > 0$, $t \neq 0$, $s^2 + 4t > 0$ and $a_0, a_1 \in \mathbb{R}$. Similarly Uslu and Uygun [11] presented (s, t) -Jacobsthal

$\{J_n(s, t)\}_{n \in \mathbb{N}}$ and (s, t) -Jacobsthal-Lucas $\{C_n(s, t)\}_{n \in \mathbb{N}}$ matrix sequences and these sequences are recurrently defined by

$$J_n(s, t) = sJ_{n-1}(s, t) + 2tJ_{n-2}(s, t) \text{ for } n \geq 2$$

$$\text{with } J_0(s, t) = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}, J_1(s, t) = \begin{bmatrix} s & 2 \\ t & 0 \end{bmatrix} \text{ and } s > 0, t \neq 0, s^2 + 8t \neq 0 \text{ and}$$

$$C_n(s, t) = sC_{n-1}(s, t) + 2tC_{n-2}(s, t) \text{ for } n \geq 2$$

$$\text{with } C_0(s, t) = \begin{bmatrix} s & 4 \\ 2t & -s \end{bmatrix}, J_1(s, t) = \begin{bmatrix} s^2 + 4t & 2s \\ st & 4t \end{bmatrix} \text{ and } s > 0, t \neq 0, s^2 + 8t \neq 0.$$

Then Uygun and Uslu [12] generalized (s, t) -Jacobsthal matrix sequence which resulted in a sequence known as generalized (s, t) -Jacobsthal matrix sequence.

Now in the following sections we give some required definitions as well as main results of this article.

2. GENERALIZED FIBONACCI SEQUENCE AND k -PELL SEQUENCE

Definition 2.1. For $k \in \mathbb{R}^+$, the generalized Fibonacci sequence $\langle R_{k,n} \rangle$ defined by

$$R_{k,n+1} = 2R_{k,n} + kR_{k,n-1}, n \geq 1, R_{k,0} = 2, R_{k,1} = 1. \quad (2.1)$$

Definition 2.2. [7] For $k \in \mathbb{R}^+$, the k -Pell sequence $\langle P_{k,n} \rangle$ is defined recurrently by

$$P_{k,n+1} = 2P_{k,n} + kP_{k,n-1}, n \geq 1, P_{k,0} = 0, P_{k,1} = 1. \quad (2.2)$$

Both the recurrence relations (2.1) and (2.2) have same characteristic equation $x^2 - 2x - k = 0$ and suppose that a and b are the roots of this characteristic equation. Then by [7] the well known general form for k -Pell sequence known as Binet formula is given and write by

$$P_{k,n} = \frac{a^n - b^n}{a - b} \quad (2.3)$$

where $a = 1 + \sqrt{1+k}$ and $b = 1 - \sqrt{1+k}$. Here we can easily see that a and b have the following properties:

- i. $a + b = 2 \Rightarrow a - 1 = 1 - b$
- ii. $a - b = 2\sqrt{1+k}$
- iii. $ab = -k$
- iv. $a^2 = 2a + k$ and $b^2 = 2b + k$
- v. $a^n = aP_{k,n} + kP_{k,n-1}$ and $b^n = bP_{k,n} + kP_{k,n-1}$

3. GENERALIZED FIBONACCI MATRIX SEQUENCE AND k -PELL MATRIX SEQUENCE

In this section by using equations (2.1) and (2.2) we introduce generalized Fibonacci matrix sequence and k -Pell matrix sequence respectively.

Definition 3.1. For $k \in \mathbb{R}^+$, the generalized Fibonacci matrix sequence $\langle S_{k,n} \rangle$ is defined recurrently by

$$S_{k,n} = 2S_{k,n-1} + kS_{k,n-2}, \quad n \geq 2 \quad (3.1)$$

$$\text{with } S_{k,0} = \begin{bmatrix} 1 & 2k \\ 2 & -3 \end{bmatrix}, \quad S_{k,1} = \begin{bmatrix} 2+2k & k \\ 1 & 2k \end{bmatrix}.$$

Definition 3.2. For $k \in \mathbb{R}^+$, the k -Pell matrix sequence $\langle V_{k,n} \rangle$ is defined by the following equation:

$$V_{k,n} = 2V_{k,n-1} + kV_{k,n-2}, \quad n \geq 2 \quad (3.2)$$

$$\text{with } V_{k,0} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}, \quad V_{k,1} = \begin{bmatrix} 2 & k \\ 1 & 0 \end{bmatrix}.$$

Theorem 3.3. For any integer $n \geq 1$, we obtain

$$S_{k,n} = \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} \quad \text{and} \quad (3.3)$$

$$V_{k,n} = \begin{bmatrix} P_{k,n+1} & kP_{k,n} \\ P_{k,n} & kP_{k,n-1} \end{bmatrix}. \quad (3.4)$$

Proof. To prove equation (3.3), we shall use induction on n . For $n = 1$, by equation (3.1), we have

$$S_{k,1} = \begin{bmatrix} 2+2k & k \\ k & 2k \end{bmatrix} = \begin{bmatrix} R_{k,2} & kR_{k,1} \\ R_{k,1} & kR_{k,0} \end{bmatrix}$$

Let us suppose that the result is true for all values i less than or equal n . Then

$$\begin{aligned} S_{k,n+1} &= 2S_{k,n} + kS_{k,n-1} \\ &= 2 \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} + k \begin{bmatrix} R_{k,n} & kR_{k,n-1} \\ R_{k,n-1} & kR_{k,n-2} \end{bmatrix} \\ &= \begin{bmatrix} 2R_{k,n+1} + kR_{k,n} & 2kR_{k,n} + k^2R_{k,n-1} \\ 2R_{k,n} + kR_{k,n-1} & 2kR_{k,n-1} + k^2R_{k,n-2} \end{bmatrix} \\ S_{k,n+1} &= \begin{bmatrix} R_{k,n+2} & kR_{k,n+1} \\ R_{k,n+1} & kR_{k,n} \end{bmatrix} \end{aligned}$$

as required.

The proof of equation (3.4) is similar to the proof of equation (3.3). \square

The next result shows two properties which involve these matrix sequences.

Lemma 3.4.

$$V_{k,m+n} = V_{k,m}V_{k,n}, \quad \forall m, n \geq 0 \quad (3.5)$$

$$S_{k,n} = S_{k,1}V_{k,n-1}, \quad n \geq 1 \quad (3.6)$$

Proof. To prove equation (3. 5), let us use the induction on n . For $n = 0$, by equation (3. 4), we get

$$V_{k,m+0} = \begin{bmatrix} P_{k,m+1} & kP_{k,m} \\ P_{k,m} & kP_{k,m-1} \end{bmatrix} = \begin{bmatrix} P_{k,m+1} & kP_{k,m} \\ P_{k,m} & kP_{k,m-1} \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = V_{k,m}V_{k,0}$$

Let us assume that the equation (3. 5) holds for all values i less than or equal n . Now we have to show that the result is true for $n + 1$. Now from (3. 2)

$$\begin{aligned} V_{k,m+(n+1)} &= 2V_{k,m+n} + kV_{k,m+(n-1)} \\ &= 2V_{k,m}V_{k,n} + kV_{k,m}V_{k,n-1} \\ &= V_{k,m} (2V_{k,n} + kV_{k,n-1}) \\ &= V_{k,m}V_{k,n+1} \end{aligned}$$

Hence we obtain the result.

To prove equation (3. 6), we again use induction on n . Let $n = 1$, we get

$$S_{k,1} = \begin{bmatrix} 2 + 2k & k \\ k & 2k \end{bmatrix} = \begin{bmatrix} 2 + 2k & k \\ k & 2k \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = S_{k,1}V_{k,0}$$

Let us assume that (3. 6) is true for all values i less than or equal n . Then

$$\begin{aligned} S_{k,n+1} &= \begin{bmatrix} R_{k,n+2} & kR_{k,n+1} \\ R_{k,n+1} & kR_{k,n} \end{bmatrix} \\ &= \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} \begin{bmatrix} 2 & k \\ 1 & 0 \end{bmatrix} \\ &= S_{k,n}V_{k,1} \\ &= S_{k,1}V_{k,n-1}V_{k,1} && \text{By Hyp.} \\ &= S_{k,1}V_{k,n} && \text{By Eq. (3. 5)} \end{aligned}$$

as required. \square

4. COMMUTATIVE PROPERTIES

In this section we present some commutative properties which involve these matrix sequences.

Theorem 4.1. For $m, n \in \mathbb{N}_0$, the following result holds

$$V_{k,m}V_{k,n} = V_{k,n}V_{k,m} \quad (4. 1)$$

Proof. It is easy to see from the equation (3. 5) that

$$V_{k,m}V_{k,n} = V_{k,m+n} = V_{k,n+m} = V_{k,n}V_{k,m}$$

Hence the theorem. \square

Corollary 4.2. For $m, n \in \mathbb{N}_0$, we get

$$V_{k,m}S_{k,n} = S_{k,n}V_{k,m} \quad (4. 2)$$

Proof. Let us use the induction on m . For $m = 0$, from the (3. 3), we have

$$V_{k,0}S_{k,n} = \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n} \end{bmatrix} = S_{k,n}V_{k,0}$$

Suppose that the result is true for all values i less than or equal m . Then

$$\begin{aligned} V_{k,m+1}S_{k,n} &= (V_{k,m}V_{k,1})(S_{k,1}V_{k,n-1}) && \text{By Eqs. (3. 5) and (3. 6)} \\ &= V_{k,m}(S_{k,1}V_{k,1})V_{k,n-1} && \text{By Hyp.} \\ &= (V_{k,m}S_{k,1})(V_{k,1}V_{k,n-1}) \\ &= (S_{k,1}V_{k,m})(V_{k,n-1}V_{k,1}) && \text{By Hyp. and Eq. (4. 1)} \\ &= S_{k,1}(V_{k,m}V_{k,n-1})V_{k,1} \\ &= (S_{k,1}V_{k,n-1})(V_{k,m}V_{k,1}) && \text{By Eq. (4. 1)} \\ &= S_{k,n}V_{k,m+1} && \text{By Eqs. (3. 5) and (3. 6)} \end{aligned}$$

as needed. \square

Corollary 4.3. For $m, n \in \mathbb{N}_0$, we get

$$S_{k,m}S_{k,n} = S_{k,n}S_{k,m} \quad (4. 3)$$

Proof. To prove the result we shall use induction on m . Let $m = 0$, from the (3. 3), we get

$$S_{k,0}S_{k,n} = \begin{bmatrix} R_{k,n+1} + 2kR_{k,n} & kR_{k,n} + 2k^2R_{k,n-1} \\ 2R_{k,n+1} - 3R_{k,n} & 2R_{k,n} - 3kR_{k,n-1} \end{bmatrix} = S_{k,n}S_{k,0}$$

Let us assume that the equation (4. 3) is true for all i less than or equal m . Therefore

$$\begin{aligned} S_{k,m+1}S_{k,n} &= S_{k,1}V_{k,m}S_{k,n} && \text{By Eq. (3. 6)} \\ &= S_{k,1}S_{k,n}V_{k,m} && \text{By Eq. (4. 2)} \\ &= S_{k,n}S_{k,1}V_{k,m} && \text{By Hyp.} \\ &= S_{k,n}S_{k,m+1} && \text{By Eq. (3. 6)} \end{aligned}$$

as required. \square

5. FUNDAMENTAL RELATIONS BETWEEN GENERALIZED FIBONACCI MATRIX SEQUENCE $\langle S_{k,n} \rangle$ AND k -PELL MATRIX SEQUENCE $\langle V_{k,n} \rangle$

In this section we present some important results which establish relation between a Generalized Fibonacci matrix sequence and k -Pell matrix sequence in a simple and better way. So, for this we have the following theorems:

Theorem 5.1. *The following properties hold*

$$S_{k,n} = V_{k,n} + 2kV_{k,n-1}, \quad n \geq 1 \quad (5. 1)$$

$$S_{k,n} = 2V_{k,n+1} - 3V_{k,n}, \quad n \geq 0 \quad (5. 2)$$

Proof. For the proof of equation (5. 1), we use induction on n . If $n = 1$, we obtain

$$\begin{aligned} S_{k,1} &= \begin{bmatrix} 2 + 2k & k \\ 1 & 2k \end{bmatrix} \\ &= \begin{bmatrix} 2 & k \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 2k & 0 \\ 0 & 2k \end{bmatrix} \\ &= \begin{bmatrix} 2 & k \\ 1 & 0 \end{bmatrix} 2k \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \\ &= V_{k,1} + 2kV_{k,0} \end{aligned}$$

Let us assume that the result is true for all values i less than or equal n . Then

$$\begin{aligned} S_{k,n+1} &= S_{k,1}V_{k,n} && \text{By Eq. (3. 6)} \\ &= (V_{k,1} + 2kV_{k,0})V_{k,n} && \text{By Hyp.} \\ &= V_{k,1}V_{k,n} + 2kV_{k,0}V_{k,n} \\ &= V_{k,n+1} + 2kV_{k,n} && \text{By Eq. (3. 5)} \end{aligned}$$

as needed.

If a similar technique is used for equation (5. 2), the proof is obvious. \square

Theorem 5.2. For $n \geq 0$, the following properties hold

$$S_{k,n+1}^2 = S_{k,1}^2 V_{k,2n} \quad (5. 3)$$

$$S_{k,2n+1} = V_{k,n} S_{k,n+1} \quad (5. 4)$$

Proof. Since

$$\begin{aligned} S_{k,n+1}^2 &= S_{k,n+1}S_{k,n+1} \\ &= S_{k,1}V_{k,n}S_{k,1}V_{k,n} && \text{By Eq. (3. 6)} \\ &= S_{k,1}S_{k,1}V_{k,n}V_{k,n} && \text{By Eq. (4. 2)} \\ &= S_{k,1}^2 V_{k,2n} && \text{By Eq. (3. 5)} \end{aligned}$$

and since

$$\begin{aligned} S_{k,2n+1} &= S_{k,1}V_{k,2n} && \text{By Eq. (3. 6)} \\ &= S_{k,1}V_{k,n}V_{k,n} && \text{By Eq. (3. 5)} \\ &= S_{k,n+1}V_{k,n} && \text{By Eq. (3. 6)} \\ &= V_{k,n}S_{k,n+1} && \text{By Eq. (4. 2)} \end{aligned}$$

Hence the proof. \square

Corollary 5.3. For $n \geq 0$, we get

$$S_{k,n+1}^2 = S_{k,1}S_{k,2n+1} \quad (5. 5)$$

Proof. The proof is clearly seen by the equations (3. 6) and (5. 3). \square

Theorem 5.4. For $n \in \mathbb{N}_0$, the following result holds

$$S_{k,n} = S_{k,0}V_{k,n} \quad (5.6)$$

Proof. To prove the result we shall use induction on n . Let $n = 0$, we get

$$S_{k,0} = \begin{bmatrix} 1 & 2k \\ 2 & -3 \end{bmatrix} = \begin{bmatrix} 1 & 2k \\ 2 & -3 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = S_{k,0}V_{k,0}$$

Suppose that the result is true for all values of i less than or equal to n . Then by the equation (3.3)

$$\begin{aligned} S_{k,n+1} &= \begin{bmatrix} R_{k,n+2} & kR_{k,n+1} \\ R_{k,n+1} & kR_{k,n} \end{bmatrix} \\ &= \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} \begin{bmatrix} 2 & k \\ 1 & 0 \end{bmatrix} \\ &= S_{k,n}V_{k,1} \\ &= S_{k,0}V_{k,n}V_{k,1} && \text{By Hyp.} \\ &= S_{k,0}V_{k,n+1} && \text{By Eq. (3.5)} \end{aligned}$$

as required. \square

Corollary 5.5. For $m, n \geq 0$, we get

$$\begin{aligned} S_{k,n+m} &= S_{k,n}V_{k,m} \\ &= V_{k,n}S_{k,m} \end{aligned} \quad (5.7)$$

Proof. Since

$$\begin{aligned} S_{k,n+m} &= S_{k,0}V_{k,n+m} && \text{By Eq. (5.6)} \\ &= S_{k,0}V_{k,n}V_{k,m} && \text{By Eq. (3.5)} \\ &= S_{k,n}V_{k,m} && \text{By Eq. (5.6)} \end{aligned}$$

Hence the result. \square

6. SOME RELATIONS BETWEEN GENERALIZED FIBONACCI SEQUENCE $\langle R_{k,n} \rangle$ AND k -PELL SEQUENCE $\langle P_{k,n} \rangle$

In the present section we investigate the relations between the generalized Fibonacci sequence and k -Pell sequence by using their respective matrix sequences.

Theorem 6.1. For $n \in \mathbb{N}_0$, we have the following result

$$\begin{aligned} R_{k,n+2}^2 + kR_{k,n+1}^2 &= P_{k,2n+3} + 4kP_{k,2n+2} + 4k^2P_{k,2n+1} \\ &= R_{k,2n+3} + 2kR_{k,2n+2} \end{aligned} \quad (6.1)$$

Proof. By using equations (3. 4) and (5. 3), we get

$$\begin{aligned}
 S_{k,n+1}^2 &= S_{k,1}^2 V_{k,2n} \\
 &= \begin{bmatrix} 2+2k & k \\ 1 & 2k \end{bmatrix}^2 \begin{bmatrix} P_{k,2n+1} & kP_{k,2n} \\ P_{k,2n} & kP_{k,2n-1} \end{bmatrix} \\
 &= \begin{bmatrix} 4k^2+9k+4 & 4k^2+2k \\ 4k+2 & 4k^2+k \end{bmatrix} \begin{bmatrix} P_{k,2n+1} & kP_{k,2n} \\ P_{k,2n} & kP_{k,2n-1} \end{bmatrix} \\
 &= \begin{bmatrix} (4k^2+9k+4)P_{k,2n+1} + (4k^2+2k)P_{k,2n} & d_1 \\ & d_2 \\ & & d_3 \end{bmatrix} \tag{6. 2}
 \end{aligned}$$

where d_1, d_2 and d_3 represent corresponding terms of the matrix. Since

$$\begin{aligned}
 S_{k,n+1}^2 &= S_{k,n+1}S_{k,n+1} \\
 &= \begin{bmatrix} R_{k,n+2}^2 + kR_{k,n+1}^2 & e_1 \\ & e_2 \\ & & e_3 \end{bmatrix} \tag{6. 3}
 \end{aligned}$$

where e_1, e_2 and e_3 are the corresponding terms of the matrix.

Now from the equations (6. 2) and (6. 3), we obtain

$$\begin{aligned}
 R_{k,n+2}^2 + kR_{k,n+1}^2 &= 4k^2P_{k,2n+1} + 9kP_{k,2n+1} + 4k^2P_{k,2n} + 4P_{k,2n+1} + 2kP_{k,2n} \\
 &= 4k^2P_{k,2n+1} + 9kP_{k,2n+1} + 4k^2P_{k,2n} + 2P_{k,2n+2} \\
 &= 8kP_{k,2n+1} + 4k^2P_{k,2n} + 4k^2P_{k,2n+1} + P_{k,2n+3} \\
 &= P_{k,2n+3} + 4kP_{k,2n+2} + 4k^2P_{k,2n+1}
 \end{aligned}$$

This proves the first part of the theorem (6.1).

Now to prove second part of this theorem considering the equation (5. 5), we have

$$\begin{aligned}
 S_{k,n+1}^2 &= S_{k,1}S_{k,2n+1} \\
 &= \begin{bmatrix} 2+2k & k \\ 1 & 2k \end{bmatrix} \begin{bmatrix} R_{k,2n+2} & kR_{k,2n+1} \\ R_{k,2n+1} & kR_{k,2n} \end{bmatrix} \\
 &= \begin{bmatrix} (2+2k)R_{k,2n+2} + kR_{k,2n+1} & f_1 \\ & f_2 \\ & & f_3 \end{bmatrix}
 \end{aligned}$$

where f_1, f_2 and f_3 are the corresponding terms of the matrix.

Thus from the equation (6. 3), we obtain

$$\begin{aligned}
 R_{k,n+2}^2 + kR_{k,n+1}^2 &= (2+2k)R_{k,2n+2} + kR_{k,2n+1} \\
 &= R_{k,2n+3} + 2kR_{k,2n+2}
 \end{aligned}$$

This proves the second part of the theorem (6.1). \square

Theorem 6.2. For $n \in \mathbb{Z}^+$, we obtain

$$\begin{aligned} R_{k,2n} &= R_{k,n+1}P_{k,n} + kR_{k,n}P_{k,n-1} \\ &= R_{k,n}P_{k,n+1} + kR_{k,n-1}P_{k,n} \end{aligned} \quad (6.4)$$

Proof. Its proof can be easily seen by using the equations (5.7), (3.3) and (3.4). \square

7. SOME OTHER RESULTS

Lemma 7.1. For $n \geq 0$, we obtain

$$R_{k,n} = 2P_{k,n+1} - 3P_{k,n} \quad (7.1)$$

Proof. If we equate the corresponding terms of matrices in the equation (5.2), we get the desired result.

Theorem 7.2. (Binet's Formula for Generalized Fibonacci Sequence $\langle R_{k,n} \rangle$) For $n \in \mathbb{N}_0$, the n^{th} term of $\langle R_{k,n} \rangle$ is given by

$$R_{k,n} = \left(\frac{1-2b}{a-b} \right) a^n + \left(\frac{2a-1}{a-b} \right) b^n \quad (7.2)$$

where a and b are the roots of the characteristic equation, $x^2 - 2x - k = 0$.

Proof. By lemma (7.1), we have

$$\begin{aligned} R_{k,n} &= 2P_{k,n+1} - 3P_{k,n} \\ &= \frac{1}{a-b} [2(a^{n+1} - b^{n+1}) - 3(a^n - b^n)] \\ &= \frac{1}{a-b} (a^n - 4a^n + 2a^{n+1} + 4b^n - 2b^{n+1} - b^n) \\ &= \frac{1}{a-b} [a^n - 2(2-a)a^n + 2(2-b)b^n - b^n] \\ &= \frac{1}{a-b} (a^n - 2ba^n + 2ab^n - b^n) \quad \text{By (i)} \\ &= \left(\frac{1-2b}{a-b} \right) a^n + \left(\frac{2a-1}{a-b} \right) b^n \end{aligned}$$

as required. \square

Theorem 7.3. For the 2×2 matrices R_1 and R_2 , we have

$$S_{k,n} = \left(\frac{1-2b}{a-b} \right) R_1 a^n + \left(\frac{2a-1}{a-b} \right) R_2 b^n, \quad n \geq 0 \quad (7.3)$$

where $R_1 = \begin{pmatrix} a & k \\ 1 & -b \end{pmatrix}$ and $R_2 = \begin{pmatrix} b & k \\ 1 & -a \end{pmatrix}$.

Proof. Let

$$\frac{1}{a-b} \left[(1-2b) \begin{pmatrix} a & k \\ 1 & -b \end{pmatrix} a^n + (2a-1) \begin{pmatrix} b & k \\ 1 & -a \end{pmatrix} b^n \right]$$

$$\begin{aligned}
&= \frac{1}{a-b} \begin{bmatrix} a(1-2b)a^n + b(2a-1)b^n & k(1-2b)a^n + k(2a-1)b^n \\ (1-2b)a^n + (2a-1)b^n & -b(1-2b)a^n - a(2a-1)b^n \end{bmatrix} \\
&= \begin{bmatrix} \left(\frac{1-2b}{a-b}\right)a^{n+1} + \left(\frac{2a-1}{a-b}\right)b^{n+1} & k \left[\left(\frac{1-2b}{a-b}\right)a^n + \left(\frac{2a-1}{a-b}\right)b^n \right] \\ \left(\frac{1-2b}{a-b}\right)a^n + \left(\frac{2a-1}{a-b}\right)b^n & -(ab) \left[\left(\frac{1-2b}{a-b}\right)a^{n-1} + \left(\frac{2a-1}{a-b}\right)b^{n-1} \right] \end{bmatrix} \\
&= \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} \quad \text{By Eq. (7.2) and (iii.)} \\
&= S_{k,n}
\end{aligned}$$

as needed. \square

Theorem 7.4. For $n \in \mathbb{N}_0$, the following results hold.

$$S_{k,n} = \left(\frac{S_{k,1} - bS_{k,0}}{a-b} \right) a^n - \left(\frac{S_{k,1} - aS_{k,0}}{a-b} \right) b^n \quad (7.4)$$

$$V_{k,n} = \left(\frac{V_{k,1} - bV_{k,0}}{a-b} \right) a^n - \left(\frac{V_{k,1} - aV_{k,0}}{a-b} \right) b^n \quad (7.5)$$

Proof.

$$\begin{aligned}
&\left(\frac{S_{k,1} - bS_{k,0}}{a-b} \right) a^n - \left(\frac{S_{k,1} - aS_{k,0}}{a-b} \right) b^n \\
&= \frac{1}{a-b} \left[(a^n - b^n) \begin{pmatrix} 2+2k & k \\ 1 & 2k \end{pmatrix} - (ba^n - ab^n) \begin{pmatrix} 1 & 2k \\ 2 & -3 \end{pmatrix} \right] \\
&= \frac{1}{a-b} \begin{bmatrix} (a^n - b^n)(2+2k) - (ba^n - ab^n) & k(a^n - b^n) - 2k(ba^n - ab^n) \\ (a^n - b^n) - 2(ba^n - ab^n) & 2k(a^n - b^n) + 3(ba^n - ab^n) \end{bmatrix} \\
&= \frac{1}{a-b} \begin{bmatrix} a^n(2-b) & k[a^n(1-2b) - b^n(1-2a)] \\ -b^n(2-a) + 2ka^n - 2kb^n & \\ a^n(1-2b) + b^n(2a-1) & 2k(a^n - b^n) - 3k(a^{n-1} - b^{n-1}) \end{bmatrix} \quad \text{By (iii.)} \\
&= \frac{1}{a-b} \begin{bmatrix} a^{n+1} - b^{n+1} + 2ka^n - 2kb^n & k[(1-2b)a^n - (1-2a)b^n] \\ (1-2b)a^n + (2a-1)b^n & k[2(a^n - b^n) - 3(a^{n-1} - b^{n-1})] \end{bmatrix} \quad \text{By (i.)} \\
&= \frac{1}{a-b} \begin{bmatrix} a^{n+1} - 2ba^{n+1} - b^{n+1} + 2ab^{n+1} & k[(1-2b)a^n - (1-2a)b^n] \\ (1-2b)a^n + (2a-1)b^n & k[2(a^n - b^n) - 3(a^{n-1} - b^{n-1})] \end{bmatrix} \\
&= \begin{bmatrix} \left(\frac{1-2b}{a-b}\right)a^{n+1} + \left(\frac{2a-1}{a-b}\right)b^{n+1} & k \left[\left(\frac{1-2b}{a-b}\right)a^n + \left(\frac{2a-1}{a-b}\right)b^n \right] \\ \left(\frac{1-2b}{a-b}\right)a^n + \left(\frac{2a-1}{a-b}\right)b^n & k \left[\left(\frac{1-2b}{a-b}\right)a^{n-1} + \left(\frac{2a-1}{a-b}\right)b^{n-1} \right] \end{bmatrix}
\end{aligned}$$

$$\begin{aligned}
&= \begin{bmatrix} R_{k,n+1} & kR_{k,n} \\ R_{k,n} & kR_{k,n-1} \end{bmatrix} \\
&= S_{k,n}
\end{aligned}$$

Hence we obtain the result (7. 4).

Proof of (7. 5) is similar to the proof of (7. 4). □

8. ACKNOWLEDGMENTS

The authors are extremely grateful to the referees for providing valuable guidance and comments that helped in improving the manuscript.

REFERENCES

- [1] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, John Wiley and Sons, 2011.
- [2] A. S. Posamentier, *The Fabulous Fibonacci Numbers*, Prometheus Books, 2007.
- [3] A. F. Horadam, *A Generalized Fibonacci Sequence*, The American Mathematical Monthly **68**, No.5 (1961) 455-459.
- [4] C. Bolat, A. Ipek and H. Kose, *On the Sequence Related to Lucas Numbers and its Properties*, Mathematica Aeterna **2**, No. 1 (2012) 63-75.
- [5] C. Y. Chong and C. K. Ho, *On the Sum of Generalized Fibonacci Sequence*, AIP Conference Proceedings (3rd International Conference on Mathematical Sciences, Kuala Lumpur, Malaysia, December 17-19, 2014), **1602**, No. 1 (2014), 1033-1038, <https://doi.org/10.1063/1.4882611>.
- [6] J. R. Silvester, *Fibonacci Properties by Matrix Methods*, The Mathematical Gazette **63**, No. 425 (1979), 181-191.
- [7] P. Catarino and P. Vasco, *Some Basic Properties and a Two-by-Two Matrix Involving the k-Pell Numbers*, Int. Journal of Math. Analysis **7**, No. 45 (2013) 2209-2215.
- [8] H. Civic and R. Turkmen, *On the (s, t)-Fibonacci Matrix Sequences*, Ars Combinatoria **87**, (2008) 161-173.
- [9] H. Civic and R. Turkmen, *Notes on the (s, t)-Lucas and Lucas Matrix Sequences*, Ars Combinatoria, **89**, (2008) 271-285.
- [10] A. Ipek, K. Ari and R. Turmen, *The Generalized (s, t)-Fibonacci and Matrix Sequences*, Transylvanian Journal of Mathematics and Mechanics **7**, No. 2 (2015) 137-148.
- [11] K. Uslu and S. Uygun, *The (s, t)-Jacobsthal and (s, t)-Jacobsthal-Lucas Matrix Sequences*, Ars Combinatoria, **108**, (2013) 13-22.
- [12] S. Uygun. and K. Uslu, *The (s, t)-Generalized Jacobsthal Matrix Sequences*, Computational Analysis(Springer Proceedings in Mathematics and Statistics, Springer Cham) **155**, No. 23 (2016) 325-336, http://doi.org/10.1007/978-3-319-28443-9_23.